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Instruction: First 15 minutes are allotted
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All questions are compulsory,
Marks allotted to each question
are given in the margin.

In numerical questions, give all
the steps of calculation.

Give relevant answers to the
questions.

Give chemical cquations
wherever necessary.

1. W & TS @8 ¥ 9r ey fu o #
T faeeg

fetfia

T T I AT IW-Raw §

L]
L

®) I 2H,0, -+ 2H,0+0,% frm
y=K[H,0,) &1 7% arfwfima &
¥ YA Sl Aff
i T Hife sl

i

1v)

934571

e wife stffar
@Eﬂqﬁﬁ'ﬂﬁi&ml |

Scanned with CamScanner




3 374(GA)
q) I-TS T Teiaere favd R AT §
Vi) U & IS W
i) I T U A H Tl ©
i) AT W
ivy T WA | 1
M) T YN I MY T eiee o ¢

) +3 ) +6

i) O iv) -3. 1
") =0 S weEs §

oy W

i) TR

W) e 1

¥) @MW F G IF T B ¢

i) ?‘mac%o

Aif” $9E Cu, S
iii) Cu,O T Cu, S 3F
» il S 1

934571 [ Turn over

Scanned with CamScanner



374(GA) 4

1. Four alternatives are given in each part
of this question. Sclect the correcl

alternative and write it in your answer-
book :

a) For the reaction 2H,0, = 2H,0+ O,
y =K [H,0,]. This reaction is a

i)  zero order reaction

ii) first order reaction

iijj second order reaction

iv) third order reaction. - 1

b) The electrode potential of a half cell
depends upon

i) nature of metal

i) concentration of metal ions in

solutions
1Y temperature

iv) all of these. ]

¢ A metal ion M loses three
electrons. Its oxidation number will

be
) +3 i) +6
i) 0 iv) -3. 1
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d) The hydrophobic colloid in the
following is

1) Starch

1)  Glue

i)  Stannic oxide

iv) Gelatin. ]
e) The roasted ore of copper contains

) only Cu,O

i) only Cu,S

ii) both Cu,0 and Cu,S

iv) metallic copper. 1

2. /293 K ® 020 M KCl fae&a =i
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el eI
Cr,072 +80, +H' —

‘ o3t + HSO; + H0
C"4 HO4 S o 1120 1

2. a) The conductivity of 020 M solution

: -1
of KCl at 298 K 1S 0:025 s cm .
Calculate its molar conductivity. 1

b) How many ions are present in
aqueous solution of - complex

COCI.4NH ;. -1

¢) Discuss the displacement of metals
from salt solutions on the basis of
electrochemical series. 1

d) Balance the following equation by
ion-clectron method :

Cr,07% +S0, +H* —

crit 4 HSOj +H,0
1
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What is coagulation ? Explain with
an example. 1
HF is a liquid, while other hydrogen
halides occur In gascous state.
Clarnfy the reason. 1
Why most of the transition elements
exhibit paramagnetic character? 1
What are the limitations of valence

bond theory ? 1
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4. a) Explain the following :
i)  Activation €ncrgy
1) Thermal coefficient.
b) What are secondary cells ? Why ar
they called storage cells ?

c) Write the formulae of the following

compounds :
i) Tri-amine trichloro-chromiumn

(I11)
i3 Potassium Hexacyano [ron(lli).

L

2
d What do Yyou understand by
smelting ? Describe with example;
the role of flux in the smelting

wn

/ process.
s/ =) el & X A 2
#isfman : NO,, + CO, ——>CO, + NO

o (@ (9 g |
¥ forq it franfaty 61

i) NO,+NO, »NO+NO, (7<)
i) NO,+CO-CO,+ NO, ()
S T 9 (X) HE 2 2

§
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5. a] What is meant by the rate of
reaction ? For the reaction —

N02+c02——*+cog+wo
(9) (9) @ (9

The proposed mechanism 1s as

below :
i) NO, + NO, = NO+ NIEZI3 (slow)

i) NO, +CO = CO,NO, (fast).

What is the rale for the reaction ? 2
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374(GA) 10

b) Write wo oxidising and two
reducing properties of SO,. Give

equations only. 2
¢) Write the dispersed phasc and

dispersion medium in the following

colloidal systems :

1) Smoke :

i) Milk. 2
d) On the basis of following properties,

differentiate between Actinoides and
Lanthanoides :

1)  Chemical reactivity
i) Oxidation states. 2
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6. Describe with diagram the manufactureé
of sulphuric acid by lead-chamber
process. Also write its two dehydrating
propertics. Give the chemical equations
of all the reactions involved in IL. 3

OR

‘Write the method of preparation of the
following  compounds. Also  give
necessary equations.

i)  Sodium thiosulphate
iij Phosphorous trichloride

iii) Xenon tetrafluoride. 3
¥ = S ¥ owE (U qEEEE WHET
e ) —
) O T (o | AT T
ved @i W ¢ 2
i) wreE an S W R o & 2
ifi) AT &1 Seid e AgNO , § Toha

AT E ? 3
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ii) 3METSH ¥ MEieH I ?

i) fat=s 90 9@ T9RE T4 2 3

7. What happens when —

( Give chemical equations only |

i) Ozone gas is passed In polassium
permanganate solution ?

i) Phosphorous acid is heated ?
ili) Aqucous solution of ammonia reacts

will AgNO , ? 3
OR
How will vou obtain ( Give cquations
only ) —

i)  Sulphuric acid from sulphur ?

i) lodic acid from lodine ?

iiij Chlorine gas from  bleaching
powder ? 3
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Note: (i) Ail'ﬁt;ééiaﬁs are compulsory. Marks
allotted to each question are given in the
. margin.

(i)  Give relevant answers to the questions.

(i) In numerical questions, give all the steps
of calculation.

(iv) Give chemical equations wherever
necessary.
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(), B 42 ¥R m s e < (d) Which compound amongst the following
' | : does not reduce Fehling's solution ? 1
Ve | TEE TR ST R 7 1 - !

i) CH H (i
(i) CH,COO}{ (ii) HCOOH (1) 4COOH (i) HCOOH

(i) HCHO () CH,CHO W OB, O
- WW 3 A (€) :l)alum; plol:'mer s l ‘ 1
= ; i olythene  (it) Cellulose
() o i) A i) PVC. (i) Teflon
(i) RAA.  (v) A "
: ; | 2. (%) wieren ) e wfka @Ry | 1
i oo (@) W st w0 s
' the answer-book : Ve it forfe | : 1
(a).'r".”kmpng_sc the: following, which -one is a (M) IEAR-6, 6 TETF W T R ? TARRE
; colligative propcny" _ . 1 mamm' .
& ke R g () vl et & - N, e ) e
_r‘.#") Vnscosz o ~NH, ¥
' ') (m)' Osinotia pre prcssure §fR Fefefisa vlem € mem AR
(iv) Optical acﬂm . ﬁtﬁﬂwm hitp:/www.upboardonline.com
I (b) Lucas reagent is.used tosidentify -, - v 2. (a) Explain molarity with example, 1
o eofi)ur Nitro/Alkane (ii)., Alkene (®) Write down the chemical equation of
: (iii) Alohol: " (iv)* Alkyl Amine Hofmann Bromamide reaction. 1
: ©" In isolhermal expansionof an ideal gas  + 4 (€} How is Nylon 6-6 polymer formed 2 Explain
(i) intemal energy decreases, BVing the chemical reaction. 1
" (i) intemnal encrgy'indreascs. ' (d)  Identify - NH, group in organic compounds
@ii1) total energy decreases. wath the belp of following test . 1
(iv) internal energy remains constant. Carbylamioe reacuion
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3. (a) Freezing pomt of a 5% solution (by weight)
of sugar in water is 271 kelvin. Determine
the freezing point of 5% solution of glucose
in water if the freezing point of pure water
is 273.15 kelvin.

(b) Write short note on Sandmeyer's reaction.

() Write down _differences between
thermosetting plastic and thermo plastic
with one ~ one example of each.

. (d) Write two methods of preparation of
nitrobenzene.
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X ’(aj' Define Raoult’s law of lowering vapour

pressure. Write its limitations. X 2

(b) Describe the method of preparation of
chloroform in laboratory giving diagram
and related chemical reactions. 2

[{¢c) . How will you differentiate between

formaldehyde and acetaldchyde ? ? 2

(d) Differentiate between pnmary, sccondary
and terhiary aleohol 2

) e e e At dgteer o ke

e ﬁvﬂmmlmﬁamm
‘ﬂﬁff@m o 2

(@) .ﬁqhﬂaa vga :ﬂﬂﬁmﬂ w mﬁa
»‘ mmﬁﬁwmuﬁam:’fzm

. : 2(141)

0 Reemeew .
(i) T - 2R iR .
M ) TR 72 TR T TERE

wifte e ) , S 2(141)
(i) effeets e o) ) aifacar e |
(7) v oo ferfag - 2(141)
(i) TEATE
(i) T@wPam



(@) How will you differentiate between ethyl
alcohol and methy! alcohol by two tests and

. \ . - ﬁ
also give related chemical reactions. 2 7. ffRAC@ED®HM, @A @ ! F4 4 g
(b) Wuite down short note on the following E i i\nmmﬁlﬁm I
important rcactions by giving related
chemical equations. 2(141) Y4l

(1)  Williamson synthesis.

L . frefafen w aftre feuroft ferfae -
(1) Reimer-Tiemann reaction.

{(¢) (i) Whatis urotcopine ? Write chemical (1) D.N.A.
reaction of its formation. 2(141) )
(1) How is mesitylene obtained ? Write (1) g
its chemical reaction. (iii) -
(d)  Write short notes on : 2(1+1)
(i)  Heat of Combustion 7. Write the names, source and the diseases caused
(i) Hess's Law due to the deficiency of vitamin A, C & D.
OR
Z\!i I He ;;nt Rl . Write short notes on the following :
manfs RH'EQ | 3
- o (i) D.N.A.
TR, TP 311 T e ) e 3 W) Prosein
&2 9w w7 3 (i) Fat
What is oligosaccharides ? Write two chemical -
propenties of any one oligosaccharide. 3
OR

How will you obtain Glucosazone, Gluconic acid
and Sorbitol from Glucose ? 3



